1.0 Bof¥ia

© HKAEBEIBHE x4 (3.1x5x3mm) @ 1% B AR S84 x4 (3.1x5x5mm) 22 IRIBFAFEENRS, 1EF

O TUSkIEETM3-6 x 6 T sk#BETM3-8x 10 3mmaLE SmmE EHIRE A,

T smssmaizxs T EskETMI-ox 6 if”?*iy‘*ﬁ"“; E)@EE 2.5 SR BIEAIE F AREY: 28 B FHMBSTERIUE L 48
2 Sk FLE ERASLIEETM3-6EE

\\5 AAIRE x 2 (2mm/2.5mm) " =

BT IRIN S B AR SEHIRINIE B AR
pu— ¢ 2.3 BT EERMEALIBTMS,
: Im A G/ C BFEEABAIR EHEARAR R S F AR A \
2.6 IT T E B &I EIIM3ILRSET,
i
2.0 &3 Rz

2.1 @ BERRELR R SHRTERER R ERTLIRTTM3-8EIE

@ SERBIRIE AR (R SLIRETM3- 6B S —
@ %—g;&)#*& 1§Fﬁ %igiTM?)‘é@fE 2.4 Fﬁﬂﬁ%ﬁiﬁ%&ﬂ%‘éiTMB—SlﬁlEﬁﬁﬁ:ﬂ?&'}‘#tfa’, BH ﬁ%ﬁiﬂ%iﬁgﬂ- SimPro Manager
M3-8[EE R Lk B ST AR ISR R IR HITIRE
2.7 3BIE F BBV F L 1R R Fm#EiE

73 18 & F 4k (BEZRXAFHIBDES)

|
|
|
|
|
|
|
|
\
|
|
|
|
|
|
\
|
|
|
|
|
|
|
o BGERGS
|
|
|
|
\
|
|
|
|
|
|
\
|
|
|
|
|
|
|
|
|

BT MRSFLIATEIR A IEE ‘

|




2/MING/C

1.0 List of Accessories

Spacer Column x4 (3.1x5x3mm)

Spacer Column x4 (3.1x5x5mm)
Countersunk Head Screw M3-6 x 6
Countersunk Head Screw M3-8 x 10
Countersunk Head Screw M3-12 x 6
Button Head Socket Cap Screw M3-6 x 6

Allen Key x2 (2mm/2.5mm)

=7
&7 Y Y
¥ g \ i A
| D)
= 5)
= ~ Il = §
| = o<l b )

Carbon fiber paddles Injection-molded paddles Metal paddles

e =] = O ©

©I®
O 69
Carbon fiber clutch paddles Metal clutch paddles Extention rod

2.0 Installation

2.1 @ Injection-molded and carbon fiber paddles: install with
countersunk screws M3-8.

@ Metal paddles: install with countersunk screws M3-6.

® Clutch paddles: install with round-head screws M3-6.

2.2 Based on the required distance,
select a spacer column with a height
of 3mm or 5mm. As shown in the
diagram, secure it to the paddle
using countersunk screws M3-12
(ensure the countersink side faces
upward).

2.3 Adjust the paddle plate's
distance by fine-tuning the

two countersunk screws M3.

2.6 Unscrew the M3 screws
securing the decorative cover
and remove the cover.

2.4 After installing the extender to the paddle with two countersunk screws
M3-8, use two countersunk screws M3-8 to install the injection-molded or |
the carbon fiber paddle.

Use the threaded holes shown in the

\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
diagram to adjust the paddle distance.

2.5 For metal paddles, use
countersunk screws M3-6
to secure the paddle.

2.7 Plug the double-paddle
assembly’s cable into the
connector on the steering wheel.

2.8 Use the removed M3 screws
to secure the double-paddle

assembly.

Software & applications

Install SimPro Manager

on PC to complete setup

Product Tutorial
(Scan the QR code to

view more)



